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3.10.2
96b (w2 nbon ¥ 87I8) > 97b (025va bis wv)

I. “Backdoor” discussion — status of found nYan (in re: mwTn 9%an)
a. rpox 77 nvan found in v
i. If: strips — may not be used for n>¥>¥ (may have been dyed for another purpose)
ii. If: strings — may be used for mxx
1.Question: why the distinction? Perhaps he cut them for threads?
2. Answer: if they were spun
a) Challenge: even if spun, perhaps they were spun for threads for the hem
b) Answer: if they were also cut (to size) — no one troubles himself to that degree if not for nowx
i. Challenge (X17): people don’t trouble to make a y'np look like y2°an — yet we limit our mwn to “old”
ii. Answer: perhaps this issue is the core of the dispute N7’ *3/n™ (>:n XNaoIN) re: "MvYTN”
3.However: since mwn is defined as untied — and he can’t put them on due to 7w —Xn7v not the issue here
i. Question: according to nT "3, why not make a bow?
1.7 this teaches that a bow is not a valid P2an vp
2.7ax: nmiv " is following his own position (X:10 naw) that na»ny is a full knot
a. Challenge: if nmi1 "1 didn’t consider na%y to be n71wp — would that be a solution?
b.  Answer: he could bow it in the form of a knot, were it permissible
II. 27’s rule regarding checking 1%7an bought from a single non-expert
a.27 must check 3 — atleast 1 7 Yw and 1 wr1 5v
i. Rationale: 3 checks needed for maw> npm and at least 1 of each type must be checked
ii. 237 who holds that npn is determined by a pattern of 2 — allows 2 checks
1.However: he agrees that if checking bunches, each nax needs 2 checks (each bought from a different person)
III.Clarification of terms — n’nax and m>713 are essentially the same
a. p’nay. means they are in pairs
b. 5775 means a larger bunch bound together
i. Note: if there are so many that he wouldn’t finish wearing, bringing in etc. — then he is Pwnn
IV. Analysis of 'k mwn: the danger clause:
a.Challenge: ®na rules that he moves them <x”7 at a time
b. Resolution: if danger is from non-Jews (who will ridicule) — cover them (mwn)
i. But if: in danger from armed thieves, carry them 8”1 mna mna
1.Challenge: why would w™ advise, if trying to avoid attention (of »131), to pass it person to person
2. Answer: our mwn is on — first rule qualified as in case of »2); if @VOY, walk it X" MNa mny; v™ dissented
a) Reason (for w”7's dissent): prefers handing them to another in a chain lest 1 person carries >4
i. p’m prefers 1 person carrying <4 to lessen the disgrace of naw
V. Clarification of ruling — 111 131 - if his wife gave birth in field
a.Even if: they have to pass him through many hands (not comfortable for baby) — still use that solution
VI. Analysis of '® mwn: N1’ "1 and the barrel
a.Question: N "1 surely accepts the principle that 0’93 acquire the ;nn of their owner (x:n nx»)
b. Answerl (57): case is water being passed from barrel to barrel
i. And: nmn "1 follows his own reasoning — that water is 5va vis-a-vis onn (1:n n¥»1)
ii. Block: nmi "7 only rules that way in re: water in dough — but not liquid that stand alone
c. Answer2 (827): case where the water didn’t get nnaw but the barrel did
i. And: barrel is 590 to liquid, as a bed is Y01 to the person in it (n:’ naw)
ii. Challenge (901 27): in Xn>11 — N 1 only allowed handing barrel over (as in our mwn) in a 1Y
d. Answer3 (9o 27): our case is a RV
e.Answer3a (772x8): unlike 81w — in 8717w, he allows it even if both barrel and water had nn»aw
i. Here: only if the barrel did and the water didn’t
f. Answer4 (»wx 37): the barrel is 7pan (no Nn»aw) —
i. And: non (who respond) represent 1”21 who maintains that 9pan is nnvaw nnp
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